

04/03/2020

Page 1 of 1

Vendor Ranking

Letting: 06200326 March 26, 2020 11:00 AM **Call Order**: 004 **Contract**: E6M71-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 44429717201

Contract Desc: FENCE INSTALLATION MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	GOMEZ & SON FENCE CORP.	Responsive	Winning bid	\$63,275.00	100.00%
2	LEON AMERICA CONSTRUCTION LLC	Responsive	Non-Winning Bid	\$84,262.50	133.17%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$97,120.00	153.49%
4	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$120,450.00	190.36%
5	PHOENIX FENCE CORP	Responsive	Non-Winning Bid	\$124,285.00	196.42%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



04/03/2020

Tabulation of Bids

Page 1 of 8

06200326 Letting: Contract: E6M71-R0 March 26, 2020 Call Order: 004 District: District 6 Fed Aid No: fedprojects Counties: MIAMI-DADE Contract Time: 365 CALENDAR DAYS Project(s): 44429717201

Contract Descr: FENCE INSTALLATION MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Electronic bids are requested for a Business Development Initiative (BDI) / Work Order Driven contract that consists of providing labor, equipment and materials to construct new fence, remove and replace damage, destroyed or deteriorated post and fence sections in Miami-Dade County. The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractor's bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of Letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work

Award will be made at the Budgetary Ceiling amount of \$70,000.00.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at https://cmdp-bap.com/

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://fms.fdot.gov/Anonymous/SendDocumentToClient?documentId=1365

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is pregualified in the project's major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the Expedite application.





Tabulation of Bids

Page 2 of 8

Letting: 06200326 March 26, 2020 **Call Order:** 004 **Contract:** E6M71-R0

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09.

Visit www.bidx.com for more information

BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

Line No / Item ID Alternate Item Description	Quantity Units	(1) GOMEZ & COF		(2) LEON A		(3) ROGAR MA CONSULTING	OF FLORIDA
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price E	C Ext Amount
SECTION: 0001 FEM	ICE REPAI	R (LF)					
0005 0550 10110 FENCING, TYPE A, 0.0-5.0', STANDARD	400.000 LF	4.00000	1,600.00	9.00000	3,600.00	12.00000	4,800.00
0010 0550 10220 FENCING, TYPE B, 5.1-6.0', STANDARD	2,700.000 LF	6.00000	16,200.00	17.00000	45,900.00	15.00000	40,500.00
0015 0550 10221 FENCING, TYPE B, 5.1-6.0', W/ BARB WIRE ATTMT	150.000 LF	7.50000	1,125.00	15.00000	2,250.00	15.00000	2,250.00
0020 0550 10222 FENCING, TYPE B, 5.1-6.0, W/ VINYL COATING	180.000 LF	6.50000	1,170.00	16.00000	2,880.00	24.00000	4,320.00
0025 0550 10228 FENCING, TYPE B, 5.1-6.0, RESET EXISTING	250.000 LF	6.00000	1,500.00	8.00000	2,000.00	4.00000	1,000.00
0030 0550 10335 FENCING, TYPE R, 6.1-7.0', VERTICAL	25.000 LF	40.00000	1,000.00	20.00000	500.00	10.00000	250.00
0035 0550 10343 FENCING, TYPE R, 7.1-8.0, W/FULL ENCLOSURE	160.000 LF	125.00000	20,000.00	10.00000	1,600.00	80.00000	12,800.00



Page 3 of 8

Florida Department of Transportation



Tabulation of Bids

Letting:	06200326	March 26, 2020	Call Order: 004	Contract:	E6M71-R0
----------	----------	----------------	-----------------	-----------	----------

Lettin	g : 06	5200326	March 26, 2020	Cal	l Order: 004		Contract:	E6M71-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) GOMEZ & COF		(2) LEON A		CONSULTING	ANAGEMENT & GOF FLORIDA
	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
	SECTION:	0001	FENCE REPAIR	R (LF)					
0040 FENCIN ENCLO	0550 10344 NG, TYPE R, 7. SURE	1-8.0, W / PAR	25.000 TIAL LF	40.00000	1,000.00	40.00000	1,000.00	80.00000	2,000.00
0045 FENCE OPENIN	0550 60111 GATE, TYPE A NG	A, SINGLE, 0-6	4.000 6.0' EA	50.00000	200.00	200.00000	800.00	1,800.00000	7,200.00
0050 FENCE OPENIN	0550 60112 GATE, TYPE A NG	A, SINGLE, 6.1	5.000 -12.0' EA	50.00000	250.00	200.00000	1,000.00	1,500.00000	7,500.00
0055 FENCE	E550 6221 POST BRACE	(TYPE B) (6')	10.000 EA	4.00000	40.00	67.00000	670.00	100.00000	1,000.00
0060 FENCE	E550 6222 POST LINE (T	YPE B) (6')	250.000 EA	58.00000	14,500.00	80.00000	20,000.00	30.00000	7,500.00
0065 FENCE (TYPE I	E550 32 30 , CORNER PO 3) (6')	ST ASSEMBL\	5.000 (EA	5.00000	25.00	175.00000	875.00	100.00000	500.00
	E550 51 30 , PULL POST <i>A</i> ; COAT) (6')	ASSEMBLY (T)	5.000 (PE EA	243.00000	1,215.00	70.00000	350.00	100.00000	500.00
0075 FENCE (6')	E550 61 30 , END POST A	SM (TYP B, ZII	5.000 NC) EA	255.00000	1,275.00	100.00000	500.00	100.00000	500.00
	E580336 12 R SHEARING > ' HEIGHT	0' TO 15' WIDT	75.000 ГН LF	14.00000	1,050.00	2.00000	150.00	30.00000	2,250.00



04/03/2020

Tabulation of Bids

Page 4 of 8

Letting:	06200326	March 26, 2020) Cal	II Order: 004		Contract:	E6M71-R0	
Line No / Item ID Alternate Quantity Item Description Units		• •	(1) GOMEZ & SON FENCE CORP.		(2) LEON AMERICA CONSTRUCTION LLC		IANAGEMENT & G OF FLORIDA	
	em is bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SEC	TION: 0001	FENCE REPAIR	R (LF)					
	336 13 RING >0' TO 15' WII AN 20' HEIGHT	75.000 DTH LF	15.00000	1,125.00	2.50000	187.50	30.00000	2,250.00
0001 FE	NCE REPAIR (LF)	Section Totals:		\$63,275.00		\$84,262.50		\$97,120.00
	Contract (Grand Totals:		\$63,275.00		\$84,262.50		97,120.00





Tabulation of Bids

Page 5 of 8

Lettin	g : 0	6200326	March 26, 2020) Cal	l Order: 004		Contract:	E6M71-R0	
_	No / Item ID	Alternate	Quantity Units	(4) T & M LA SERVIO		(5) PHOENIX F	ENCE CORP		
() in	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	FENCE REPAIR	R (LF)					
0005 FENCIN	0550 10110 NG, TYPE A, 0	.0-5.0', STANDA	400.000 ARD LF	5.00000	2,000.00	10.20000	4,080.00		
0010 FENCIN	0550 10220 NG, TYPE B, 5	.1-6.0', STANDA	2,700.000 ARD LF	13.00000	35,100.00	13.90000	37,530.00		
0015 FENCIN WIRE A		.1-6.0', W/ BARI	150.000 B LF	13.00000	1,950.00	17.00000	2,550.00		
0020 FENCIN COATIN		.1-6.0, W/ VINY	180.000 L LF	15.00000	2,700.00	22.50000	4,050.00		
0025 FENCIN EXISTIN		.1-6.0, RESET	250.000 LF	2.00000	500.00	3.00000	750.00		
0030 FENCIN	0550 10335 NG, TYPE R, 6	.1-7.0', VERTIC	25.000 CAL LF	200.00000	5,000.00	75.00000	1,875.00		
0035 FENCIN ENCLO		.1-8.0, W/FULL	160.000 LF	300.00000	48,000.00	250.00000	40,000.00		
0040 FENCIN ENCLO		.1-8.0, W / PAR	25.000 TIAL LF	200.00000	5,000.00	160.00000	4,000.00		
0045 FENCE OPENII		A, SINGLE, 0-6	4.000 .0' EA	300.00000	1,200.00	400.00000	1,600.00		





Tabulation of Bids

Page 6 of 8

Letting:	06200326	March 26, 2020	O Cal	l Order: 004		Contract:	E6M71-R0	
Line No / I		e Quantity Units	(4) T & M LA SERVIO		(5) PHOENIX F	FENCE CORP		
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	FENCE REPAIR	R (LF)					
) 60112 E, TYPE A, SINGLE, 6.	5.000 1-12.0' EA	500.00000	2,500.00	1,100.00000	5,500.00		
) 6221 BRACE (TYPE B) (6')	10.000 EA	100.00000	1,000.00	30.00000	300.00		
) 6222 LINE (TYPE B) (6')	250.000 EA	50.00000	12,500.00	40.00000	10,000.00		
) 32 30 NER POST ASSEMBL	5.000 Y EA	100.00000	500.00	60.00000	300.00		
) 51 30 ₋ POST ASSEMBLY (Τ Γ) (6')	5.000 YPE EA	100.00000	500.00	150.00000	750.00		
) 61 30 POST ASM (TYP B, Z	5.000 INC) EA	100.00000	500.00	100.00000	500.00		
	0336 12 ARING >0' TO 15' WID GHT	75.000 TH LF	10.00000	750.00	50.00000	3,750.00		
POWER SHE	0336 13 ARING >0' TO 15' WID IAN 20' HEIGHT	75.000 TH LF	10.00000	750.00	90.00000	6,750.00		
0001 F	ENCE REPAIR (LF)	Section Totals:	•	\$120,450.00		\$124,285.00		



04/03/2020

Tabulation of Bids

Page 7 of 8

Letting:	06200326 M	arch 26, 2020) Ca	all Order: 004		Contract:	E6M71-R0	
Line No / Item ID Alternate Quantity Item Description Units		(4) T & M LAWN-FENCE SERVICE INC		(5) PHOENIX FENCE CORP				
() indicates item	() indicates item is bid as Lump Sum			Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	Contract Gra	nd Totals:		\$120,450.00		\$124,285.00		



04/03/2020

Tabulation of Bids

Page 8 of 8

Letting: 06200326 March 26, 2020 **Call Order:** 004 **Contract:** E6M71-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.